Final Year B.A. Examination, May/June 2010
(New Scheme SIM) (R.S.S.)
POLITICAL SCIENCE
Paper - IV : Public Administration

Time : 3 Hours

Note : Answer any three questions. Each question carries 15 marks.
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Note : Answer any three questions. Each question carries 10 marks.

Explain the meaning and scope of Public Administration.
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. Explain the powers and functions of the chief-executive.
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. What is training ? Explain its importance.
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. Discuss the basis of departmental organisation.
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. What is budget ? Discuss the main features of the sound budget.
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6.

Explain the functions of Independent regulatory commission.
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. Examine the functions of management.
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10.

Note : Answer any three questions. Each question carries 5 marks.

Describe the functions of line and staff agencies in the administrative system.
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. Bringout the problems of recruitment in civil service.
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Examine the legislative control over Public Administration.
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Explain the “Principle of Hierarchy”.
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What are the functions of the civil-service ?
TONOCT Feamo @NE T FTOF NERR)e) ?

Mention the rights of government employees.
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Write the note on delegated legislation.
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Distinguish between public and private administration.
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